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& =t 602 168 220 214 185 49
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J\TFA A 102 30 40 32 36 10
=5 X & 182 55 59 68 51 9
= Hh = 131 32 48 51 43 15
* H B B BT AT EDH
DR =gH | EMEE B EE =055 BDBERE
& =t 25 3,388 22,388 10,911
JI\FRUOMY 8 1,060 10,225 3,429
J\FHR 4 658 2,556 1,515
=5 £ & 6 745 3,129 868
= Hh = 7 925 6,478 5,099
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R | OEEE | ER& (a) ApEH (2)/(b) X 100
k10 4 649 265 263 100.8
15 4 536 221 248 89.1
16 4 h87 195 227 859
17 4 628 179 215 83.3
18 4 650 201 278 72.3
19 4 655 227 240 94.6
20 4 620 226 241 93.8
21 4 595 219 230 95.2
22 4 597 214 224 955
23 4 589 221 224 98.7
24 4 602 185 192 96.4
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